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QUESTION 1

Which of following are the configuration modes of new NEs? (Multiple Choice) 

A. Manual configuration 

B. Uploading 

C. Downloading 

D. Copying NE data 

Correct Answer: ABD 

 

QUESTION 2

Which of the following is the frame whose VC-4 J1 byte is indicated by the current frame\\'s AU pointer? 

A. Current frame 

B. Next frame 

C. Previous frame 

D. None of the above 

Correct Answer: B 

 

QUESTION 3

SDH signals must be scrambled before being transmitted over optical fibers. Which of the following bytes are not
scrambled? (Multiple Choice) 

A. A1 

B. A2 

C. J0 

D. J1 

Correct Answer: ABC 

 

QUESTION 4

When bit errors are detected in the B2 byte, which of the following alarms is reported by the peer end? 

A. MS-AIS 
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B. RS-BBE 

C. MS-FEBBE D. MS-BBE 

Correct Answer: C 

 

QUESTION 5

The pointer is used for alignment and indicates the start position of VC-n in the corresponding AU or TU frame. In this
way, the receive end can correctly remove the corresponding VC from the STM-N, and then split the VC and C
encapsulation to separate low-rate signals, such as PDH. That is, low-rate tributary signals can be directly dropped from
the STM-N signal. 

A. TRUE 

B. FALSE 

Correct Answer: A 
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